normalized X?

107}

0.95,

Entries

0 2 4 6 8 10 12 14 16 18 20
X2

[ normalized x? probability |

0.07

0.06!

0.05

0.04

0.03
UI\IHHH:H\”:HHH 1 W"\HH

~0 01020304050 0.8 0 L
Probxz)

m—m== DQM_mkFit_TToriginal

s DQM_mkFit_TTNEWHS_ALLITERS

<op_/p_> (%)

T

T

! o '
4 T :
i e o
: oo
09532 0 12 3 32 a0 23
n TP n (PCA to beamline)
A 5E A
24 g
< w
v v
3
O I S )
3 il [ ] : s
o L ] : 4
1 - 41444 H 3 e
E 1 1lo 1(l)2 0? 10°® — 102 10
&T AR(track, jet?
g
A
-
e
a
o
el
\"
o
©
& 0.8 E
0.6 h H i EXEEEEEEE
107 1 10 0?2 4o




	Contents
	Page 1


